Transfers Report

This report contains the transfers results.

Contest Name	Kingswells-Sheddocksley-Summerhill Ward	
Valid Votes	4,752	
Positions to be Filled	3	
Quota	1,189	

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Kate BLAKE	Aberdeen Labour	644
David CAMERON	Scottish National Party (SNP)	1,265
Steve DELANEY	Scottish Liberal Democrats	1,778
David John MCGRATH	Scottish Green Party	124
Sam OCHOLA	Scottish National Party (SNP)	310
Dawn SMITH	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	60
John WHEELER	Scottish Conservative and Unionist	571
	Total	4,752

Candidate David CAMERON Elected with 1,265 votes, being in excess of the quota of 1,189 Candidate Steve DELANEY Elected with 1,778 votes, being in excess of the quota of 1,189

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Steve DELANEY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kate BLAKE	430	0.33127	142.44610
Transfer to David John MCGRATH	168	0.33127	55.65336
Transfer to Sam OCHOLA	243	0.33127	80.49861
Transfer to Dawn SMITH	51	0.33127	16.89477
Transfer to John WHEELER	385	0.33127	127.53895
No further preference	501	0.33127	165.96627
Not transferred due to rounding			0.00194
	Total		589.00000

Transfers Report

This report contains the transfers results.

76.00000

Stage 3 - Surplus of David CAMERON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kate BLAKE	109	0.06007	6.54763
Transfer to David John MCGRATH	63	0.06007	3.78441
Transfer to Sam OCHOLA	994	0.06007	59.70958
No further preference	81	0.06007	4.86567
Not transferred due to rounding			0.01145
	Total		76.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Dawn SMITH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kate BLAKE	6	1.00000	6.00000
Transfer to David John MCGRATH	14	1.00000	14.00000
Transfer to Sam OCHOLA	7	1.00000	7.00000
Transfer to John WHEELER	25	1.00000	25.00000
Transfer to Kate BLAKE	10	0.33127	3.31270
Transfer to David John MCGRATH	6	0.33127	1.98762
Transfer to Sam OCHOLA	4	0.33127	1.32508
Transfer to John WHEELER	13	0.33127	4.30651
Transfer to Sam OCHOLA	1	0.06007	0.06007
No further preference	8	1.00000	8.00000
No further preference	18	0.33127	5.96286
No further preference	3	0.06007	0.18021
Not transferred due to rounding			0.00000
	Total		77.13505

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of David John MCGRATH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kate BLAKE	36	1.00000	36.00000
Transfer to Sam OCHOLA	63	1.00000	63.00000
Transfer to John WHEELER	9	1.00000	9.00000
Transfer to Kate BLAKE	39	0.33127	12.91953
Transfer to Sam OCHOLA	34	0.33127	11.26318
Transfer to John WHEELER	13	0.33127	4.30651
Transfer to Kate BLAKE	5	0.06007	0.30035
Transfer to Sam OCHOLA	34	0.06007	2.04238
No further preference	30	1.00000	30.00000
No further preference	88	0.33127	29.15176
No further preference	24	0.06007	1.44168
Not transferred due to rounding			0.00000
	Total		199.42539

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Sam OCHOLA

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kate BLAKE	138	1.00000	138.00000
Transfer to John WHEELER	11	1.00000	11.00000
Transfer to Kate BLAKE	77	0.33127	25.50779
Transfer to John WHEELER	13	0.33127	4.30651
Transfer to Kate BLAKE	308	0.06007	18.50156
Transfer to John WHEELER	27	0.06007	1.62189
No further preference	231	1.00000	231.00000
No further preference	191	0.33127	63.27257
No further preference	694	0.06007	41.68858
Not transferred due to rounding			0.00000
	Total		534.89890

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of John WHEELER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kate BLAKE	269	1.00000	269.00000
Transfer to Kate BLAKE	184	0.33127	60.95368
Transfer to Kate BLAKE	21	0.06007	1.26147
No further preference	347	1.00000	347.00000
No further preference	240	0.33127	79.50480
No further preference	20	0.06007	1.20140
Not transferred due to rounding			0.00000
	Total		758.92135